E£510 BEmEEIVFIYH—KE
< REEL—FAVE >

wM6F6H23H

6 B 23 B B BB Brr
LAKIFP  J5uR 2221t 2K AR B s AR Ok
§§%g§ ’J/\i*iz%?l\/?\ﬁ%fSO—S 54?—?259 %ﬁ%‘éﬁ%@%gtjg%ﬂiﬁ?1 oz

[ A @ ] \

no[ w4 o % | 8% | B

DPEDE FE R B FED [FFEQD

21 9:10 %’WSCD—+7°‘13PKZ1 SHA—ILX A e

DEDER R B FED [FEQ

5 11:00 | ®&&92—X | 3 - O |BMSCO—4| #a RS

[ B [ ] _ ‘

no| Fv547 e — - % | 0% | 85lE

DPEOB ERE == 00 FEO[FHEQ

2|1 9:10 | #&E9I—X |2 - 1| RA-ILX e B

DEDER IACREER FED [FHEQ
5| 11:00 | SHA—=ILX | 3 - O | #RA—IX | #Hs HES
F—L%
= o —X
RS EgFrSCO—1f
3 SHAH—ILX
EANI ERA—-IX




F51[E EMEFLFYYI—RELLZOEH>

bATOvy [(#FEF—L) ERA-LX
NO| F— LG |&RI—NWR| EY A2 X |sve8 nxan|Bmsco—y| amsce—xa x| BEH — )L X | mmnewsc | B [ & | 4 |Ba]| 8 a| i |nxz|1E6E
1 |&RA—ILX Yok 0 é ols (3 ol 2 é 2|6 C_> : 3 (3 ol 3 C_> 0 410)]2)|14]19)] 3 |16] 2
2 |#EY1VR A F¥ © i © © © 4111 |13]15] 4 |11] 3
0O — 0 3 — 0]J]0 — 3|5 — 1 3 — 014 — O
° ° ° A ° °
3 | F9EH -HHH - e - Yok i — 1lo = olo = 4l = 3 0|5 1 1 3|26 |-23] 7
4 |EafkScO—4 A © © ok © © © 510 1|16]28] 4 |24] 1
2 — 21383 — Oo11 — 1 5 — 1 3 — 014 — O
5 | 2ESCT—A/X : : 6 : : | é q : : > Yok | C_) ol 3 f 3 1 31257 |19]|-12] 5
6 | FEH—ILX 0 : ol o : sl 4 (3 ol o : sl o : 1 ¥ . ? 0 214]l0|6|8|10]-2]4
7 | #:E,LHSC LUNA 0 : sl o : il 3 (3 . 1o : al s f oo : A Yo 1 4 1 4 6 | 20 |-14| &
XEBIRTTDTETESDAEALTTELY,
HEATOYY 4 A 29 B (A-#) SZ2TYORLAE
No| FuoAT ¥ & Y — 45 FE1 | £E2
1 13:30 BEDAUX 0O — 3 EntkscO—+ % S
3 1450 |#EEMNMEHDSCLUNAl 0 — 4 MEY9AX SHG &%
5 16:10 Enfksco—+ 4 — 0 [HEEMNLHSCLUNA| T™ SHG
LEATOvH 5 B 5 H (H) REIRANEEBLIG -2
No| FwioATD ¥ E2 1y — 45 FE1 | £&E2
1 13:30 ERA—ILX 6 — 1 | AHSCT—AAX| eEm | B
3| 1450 Egsksco—+ 2 — 2 ERA—ILX | BEH]| ™
5/ 16110 | Z2HSCY—*/X| 1 — 5 Eafksco—+ ™ | BexHE
HEATOYY 5 A 6 A (A-#) =ViRWBN TSR
No| FuoAT ¥ & Yy — 4 FE | BIE
2| 14:10 BEDAX 5 1 | AHSCT—A/X| ™ E
LEATOvH 5 B 12 H (H) RIRANEEE LS -2 (AE)
No| FwioAD ¥ E 1y — 45 FE1 | £&E2
1 15:00 ERA—ILX 3 — 0 [#EHNLHSC LUNA|Caz+—1| BEE
3| 1620 |(FT9EEH-HIHEF| 0 — 5 ERA—ILKX ) I




LEATOYY 5 A 12 H (RH) BIRAAEEE/LE-2 (B@E)

No| FuuAT ¥ B8 Yy — 45 TE1| ¥B2

LEATOvS 5 A 19 H (82) EFRITSUF

NOo| FwioAD ¥ E Uy — 4 FTE1 | 8,2

1 9:30 TIEH-HIAF 1 — 11 EgtkscA—+ SHG |Ya=#—i

LZATOYY 5 A 19 H (H) BEMIKEE2TIUF

NOo| FwioAD ¥ E Uy — 4 FTE1 | £E2
14:30 ERA—ILX 0o — 0 BEDAVX HE | B8
15:30 FEHA—ILX 0O — 3 ERA—ILX | 940X | 910X
16:30 BEDAVX 3 — 0 FEHA—NLX &R | &R

LHEATOYY 5 A 2 H (82) EFHISUF

No| FuuAT ¥ B8 Yy — 45 TE1 | ¥B2
930 |FTIEH-HIAEF| 0 — 0 | AHSCY—AASX| hdsd | hid
10:30 | AHESCY—AAX| 3 — 3 [HENHLHSCLUNA|FTTEH|T5EH
11:30  [HEANBHSCLUNA| 3 — 2 |F9EH-HESAEF| 2@ | 2H

v&ZATOvY 6 A 9 H (/) RIRACEES L% Z (BmE)

NOo| FwioAD ¥ E Uy — 4 FTE1 | £E2
11:20 MEIAVRX 3 — 0 |[99EH-HEHFF| &% | BK
13:10 BFEHA—LX 0 — 3 Egfksco—+ & |va=t-n
13:50 —

1430 | AHSCY—*1X| 1 — 0 BEH—ILX Bk &

PLHATOYY 6 A 22 H () RiRA2AE S BMEE (AME)

No| FuuAT ¥ B8 Yy — 45 TE1| ¥B2

3| 16:30 BFEHA—LX 4 — 0 |[#EMNHHSCLUNA|TTEEH| T35

4| 17:30 BEH—LX 4 — 0 |[FT9EH-HIAHEF| vin | ntd




F51[E EMEFLFYYI—RELLZOEH>

H»E&BITOvY (#FEF—L] HKEYVL—X

NO| F— L% | REVV—X| SHA—ILX |memzosznx| BFCHTLI| TMgids |8HAH—ILX|mrsa=r—nsc| | & | 5 |Mm| @ x| %s|oez| B

1 [#\EH—X H¥ o é ola ? ol é 4 ? ols C_> o 13(3 o 4o 2]14]27] 1 |26] 1

2 |SHA—ILX 0 f 0 ook ) ? ol s C_> ol 4 ? ol é e (3 o 4lo]214f15] 1 |14] 2

3 |memrooonx . : o : , F K 1 : o | s ? 1 B , (3 . 2|3]o]6|8]|9]|-1]24

4 EﬁFCf;‘GL:1 f o : 21 (3 1 Yk 5 ? ol o : s (3 0 3121|108 5]|3]3

5[ TM girls 0 : + o : al : s | o : s F¥ B ) f ) o|l4|1]1]3]|18]-15] 6

6 | #HHEA—ILX 0 : s | f : B : (_) 0 _ Yk B 1|1]1]4]2]|6]|-4|5

7 |mmvazt—nsc o i g o A *k ola|1]|1]|2]|25(237
0 — 13]o — 6|0 — 2|0 — 2|2 — 2 -

XBEMRTTOTETHESDODARLRALTTILY,

»&BIOvy 4 A 28 H (8) RIRSARESRIE- % (AR)

NO| FwoAT ¥ & U — J FE | E82

1 15:00 SHA—ILX 2 — 0 |BERIVIOIIL| # ™

P»&BIOvy 4 A 28 H (8) RIRAAEES [R5 % (BE)

NO| FwoAT ¥ & U — J FE | E82

1 15:00 #kEYL—X 4 — 0 TM™ girls SHG | EBEH

SH&BIOvY 4 B 29 B (A-#) EATYOERLAE

NO| FwoAT ¥ & U — 7 FE | E8B2

2| 1410 SHA—/ILX 0O — 0 BEY—X 91X Bk

41 15:30 ™ girls 0 — 4 SHA—ILX e |91

»&BITOvY 5 B 5 H (8) EIRSAREELEG -2

No| FvoAD ¥ E2 1y — 4 FTE1 | £E2

2 1410 |BBEAICILXl 5 — 1 TM girls £iR Nz




HEBTAvY 5 B 6 A (A-#) =YiR#WEIT SR

No| FwiAT ¥ & Y — 45 FE | BE
1 13:30 T™ girls 0 3 |BEFCHTLIME| & |91>X
3| 1450 |[EFCHATLIMEE| 1 1 FEHI—X | 91X 2@
HEBTAvH 5 A 12 H (a) RIRAOEEENLIG-Z (AH)
NOo| FwhAD ¥ 2 )y — 4 FE1 | £F2
H»EBIOYY 5 A 12 B (B) SRESAEEHLS-Z(BH

No| FvoAT ¥ &8 UV - 7 EE1 | 82
1 15:00 |#ECa=A—nscr=—F+| 0 — 2 |[RFCHTLIRE| it | &R
3 16:20 [BBEHI>CIILX| 2 — 0 |#ESazt—iscri=——F| £R |T9EH
PHEZ&BJOyy 5 A 19 H (H) EFHISUF

NOo| FwhATD ¥ # )y — 4 FE1 | £F2
2 10:10 WECazA—uscri=——+| 0 — 6 SHA—ILX FTI=E| Bk
L&ZBIOvy 5 B 25 H (1) RIRALEZ BMILIE

No| FwhAT ¥ E Uy — 4 IE1 | FE\2
1 15:00 eV —X 4 — 0 [BEHIVCIILX| # | B
PL&BITOvy 6 B 1 H (1) VDRI IERR

NOo| FwhAD ¥ # )y — 4 FE1 | £F2
1 14:30 SHA—ILX 2 — 0 |"FCHTLI#ER| SHG I
HEBTAYY 6 A 9 H (/) RIRSAEES LIS -2 (AME)
No| FwiAT ¥ & ) - 4 FE1 | FE2
1 13:10 FEHSL—X 13 — 0 [|#ECa=t—rscr=——7F| 942X | BHE




HEBTAYY 6 A 15 H (1) RIRAAE%Z BMIAE (AM)
No| FwiAT ¥ & ) - 45 FE1 | FE2
1 13:20 TM girls 2 — 2 |#ETazt—iscr=—F| #HA I
2| 14:.00 #MFAAH—ILX 1 — 0 |EFCHTLIME| ™ [vazt—n
4| 15:20 SHA—ILX 1 - 1 #MFAAH—ILX #® 1%
6 16:40 WA —ILX 0 — 5 HES—X SHG SHG
L&ZBIOvy 6 B 22 H (1) R AEZ B0EES (AHE)
NOo| FuoATD ¥ 2 )y — 4 FE1 | £F2
1 15:10 [RFCHTLIHEE| 2 — 1 [BBEARIVDIILX| # &




